ERGOPLUS

AUTOPLUS

MAO562

3m - 45°

Euro

MA7243 3m Euro
MA7244 4am Euro
MA7245 5m Euro

MAO0565

3m-0°

Euro

-_ -_

ARO0054 Euro body (m)

BW0020 Euro nut metal 10
BWO0080 plastic body 10
BW0195 back box @ 14 1

BWo0265 ring 10
BX0020 trigger 10
BX0024 long trigger 5
BX0067 trigger-micro 5
BX0068 long trigger-micro 5
EA0018 screw M4x6 50
EA0064 screw 3.9x16 50
EA0210 oring @ 3x1.5 10
EA0304 spring 25 10
EA0342 spring 1

FA0026 liner nut 10
FB0319 joint 10
GMO0500 @0.6-0.9 3.4m 1

GMO0501 @0.6-0.8 4.4m 1

GMO0502 @0.6-0.8 5.4m 1

GMO0510 @1.0-1.2 3.4m 1

GMO0511 @1.0-1.2 4.4m 1

GMO0512 @1.0-1.2 54m 1

GMO0600 @ 0.6-0.9 3.5m Teflon 1

GMO0601 @ 0.6-0.9 4.5m Teflon 1

GMo602 @ 0.6-0.9 5.5m Teflon 1

GMO0610 @1.0-1.2 3.5m Teflon 1

GMO0611 @ 1.0-1.2 4.5m Teflon 1

GMo612 @ 1.0-1.2 5.5m Teflon 1

MCo022 @ 11.5 nozzle 10

XOOO(-XX STANDARD CONSUMABLES IN BLUE

[ ] COMPLETE TORCHES

[ ] CONSUMABLES

MCo0023 @ 15 nozzle
MCo0024 @ 18 nozzle 10
MC0025 @ 20 spot weld. nozzle 10
MCO0265 @ 11 tapered nozzle 10
MC0267 @ 14 tapered nozzle 10
MD0009-06 @ 0.6m6 ftip 20
MD0009-08 @ 0.8 M6 tip 20
MD0009-09 @ 0.9 M6 tip 20
MD0009-10 @ 1.0 M6 tip 20
MD0009-12 @ 1.2 M6 tip 20
MD0009-14 @ 1.4 M6 tip 20
MD0009-16 @ 1.6m6 tip 20
MEOO16 diffuser 10
MEO0040 diffuser 10
MEO0060 long diffuser 10
MF0033 torch head - 45° 10
MF0230 torch head - 45° 1
MF0231 torch head 1
MHO119 25 mm2 3m M10x1 1
MHO124 25 mm2 4m M10x1 1
MHO0125 25 mm2 5m M10x1 1
MP0125 handle 1
MP0133 black handle 1
MP0134 red handle 1
MP0135 blu handle 1
MP0200 black handle 1
MQo129 insulator L=90 10
MS0003 @ 4.0 Teflon 10
MT0240 complete handle 1

CONNECTORS

SPARE PARTS

ﬁ;//oﬁmc]‘

your welding partner



Pg
)

CONSUMABLES MPO135

EA0DB4 —— &

MHo119
MHo124 —
MHo125

ME0040 & EAcsos

Ma
—— ME0016
MD0005 W o
# — MD0009-10

/ EA0342 2
/ ——MCo023 | o
BWo195 Nt

Steel liner
GMo510...
GMo511...
GMos12...

LINERS

ERGOPLUS

[ |smmezm

T Rt | AFPALVED

\?‘ﬁ’n —

{5 IEC60974-7 c€ |

i o
GUN PLUS KIT

@l‘ ........ ;

-
o

ViFoeoo s pxoozo _MTD240 1 X

< 1.25 Kg
S
O O~
gy

v 230A CO2
e 200A Mix

Pg
(2

CONSUMABLES MPo125 —

EAD018 —a

MFo0231 0°

EA0304 — &

ME0016 —/

MD0009-10 —/

MCo023 —
L

b sm';l liner
MQo129 — GM0510

LINERS

AUTOPLUS

= N=
ECe00747 @ ;|

; f:ﬁ#,w
110
i&;#
0.6 Kg
':‘ Im I
113 oyl 08-09 230A CO2
peak LWyl 1.0-1.2 200A Mix

ﬁg//oﬁ)??@f

your welding partner

WELDING

WELDING

—




